Name:

Primary 5

LAURA AND PETER
Present Simple - 3rd person

Laura eats
(She)
wears
¢
4 Peter flies
i) drinks
4
sings
The bird
(It) plays

1.- Choose the correct verb:

-lLaura ..
-Peter ...
-The bird ...
-Laura ...
-Peter .

=The bird ..o

2.- Complete:

a delicious sandwich. She is very hungry.
a refreshing orange juice. He is very thirsty.

very high in the sky.

. tENINiS very well. She is a brilliant tennis player.

a blue T-shirt and red trainers. He loves football.

a lovely song. It is a good singer.
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to jump . he ciad WTURYS e :

to run Eshe ....... 3

to study ' h® e

to draw Eshe S

to sleep E it E




